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q(19 Because of the velocity deficit, U — u,
in the boundary layer, the streamlines for flow

past a flat plate are not exactly parallel to the Ba ¥ Streamline A-B &
plate. This deviation can be determined by use l_mf_ s Py " T

of the displacement thicknesg, d*. For air blowing p—ies —(E'Jg; - :
past the flat plate shown iln Fig. P9.19, plot the - S T T A A T R
streamline A-B that passes through the e@ge of % w s |
the boundary layer (y = dzatx = [) at point B. -

That is, plot y = y(x) for streamline A-B. As- FIGURE P9.19

sume laminar boundary layer flow.
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layer flow remains laminar along the entire plate. Hence,
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a uniform velocity with fhe plate displaced 1
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